King's Baptist Grammar School







ALL ORDERS CAN BE COMPLETED AT www.campion.com.au
USING "858M" AS YOUR CODE
OR Post this List to Campion Education, PO Box 56, Campbelltown SA 5074

by Thursday 1st December 2016
ALL ORDERS MUST BE PREPAID
Cheques will NOT be accepted.

PREPACKAGED DELIVERY SERVICE

TUDENT GIVEN NAME(s) STUDENT SURNAME			
ELIVERY ADDRESS (For easy delivery, Parent Name & Work Address preferred) (PO Box if applicable)			
	+ + -		
SUBURB	CODE		
PARENT/GUARDIAN MOBILE/PHONE NUMBER			
EMAIL ADDRESS REQUIRED			
(STUDENT'S PREFERRED)			
CREDIT CARD PREPAYMENT - WILL BE PROCESSED AT TIME OF ORDER ENTRY			
MasterCard Visa Card No.:	\neg		
Expiry Date: Cardholder's Name:			
Signature:			
▼ TEAR OFF SLIP - PLEASE RETAIN ▼			
FREE HOME DELIVERY for Orders placed BEFORE 1 December 2016.			
Paid Orders will be delivered to the nominated address the fortnight ending 20 January 2017. Include business and p	arents		
name on deliveries to work addresses.			
UNPAID ORDERS WILL NOT BE DISPATCHED. CHEQUES WILL NOT BE ACCEPTED.			
OFFICE HOURS			

CAMPION

Campion Education (Aust) Pty Ltd A.B.N.: 33 074 318 602 46 Glynburn Road, HECTORVILLE SA 5073 Phone: 08 8337 4544 - Fax: 08 8336 9020 www.campion.com.au - Email: sasales@campion.com.au Mon-Fri 9am-5pm Sat 9am-12pm (Closed Public Holidays)

Important notes for ordering your educational resources

Completing your resource list

- The easiest way to get all your education resources is to submit your order online at www.campion.com.au by the due date. You can find the due date printed on the front cover of this list.
- · Alternatively, return your paper form by the due date to Campion Education, PO Box 56, Campbelltown, SA, 5074.
- Place a tick in the box to select each item you need. We'll supply the items you've ticked.
- If you will be away from home during delivery periods, consider providing a delivery address you can use as an alternative, such as
 grandparents, neighbours, your work address with parent name etc.

Ordering access to digital products

- Your resource list may contain digital items that can only be purchased by ordering them online at www.campion.com.au
- After you order them, access to these products will be provided via email for each product or will be provided at school.
- Please order your digital products carefully as returns and refunds cannot be provided on these items.
- · Access to digital products cannot be purchased in our stores and must be ordered online.

Payment

- Full payment is required at the time the order is placed. Payment can be made via:
 - · Credit Card (Visa or Mastercard only)
 - Money Order (available from Australia Post)
- · Cheques or cash cannot be accepted.
 - *Prices are correct at the time of printing and are subject to change without notice.

Late Orders

- If you missed placing your order by the due date, you can still place your order online at www.campion.com.au and select the remaining delivery option.
- Delivery charges for late orders are \$5.50 per item, up to a maximum of \$13.95 per student order.
- Please note that our store becomes very busy in the weeks before school returns. Stock availability cannot always be guaranteed in our store and for late orders.

Oversized items

· Oversized items that cannot be posted will be distributed at your school.

Returns and refunds

- Exchanges and refunds will be made on any goods deemed faulty from the manufacturer.
- Refunds may be provided on textbooks that are in their original condition (including intact shrink-wrapping where applicable) up to the 25th of February or two weeks after the purchase date, whichever is later.
- · Access to digital products cannot be returned or refunded please order these items carefully.
- A Campion representative will be available at your school in Term 1 to handle any issues associated with supply of books, or you can post your returns to Campion Education, PO Box 56, Campbelltown, SA, 5074.

Store hours

· Our store hours are:

Monday - Friday 9:00am to 5:00pm. Saturday from 9:00am to 12:00pm

Our helpline is: 08 8337 4544 or email: sasales@campion.com.au

We are closed on public holidays.

INSTHDSA1

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	RESOURCE LIST					
	BIOLOGY					
P03136	Biology Practical Manual Sace 2 (2015 edn) [Greig & Cerrie]	1		1	20.25	20.25
P11349	Biology Study Guide Sasta 2017 (Term 2) [SASTA]	2		1	30.56	30.56
P56329	(New Edition for 2017) Pocket Plastic 11 Hole A4 Box 100	3		1	5.21	5.21
P55100	Lever Arch File A4 PVC 70mm Green	4	<u> </u>	1	7.02	7.02
	BUSINESS STUDIES					
P02528	SACE 2 Business & Enterprise WB:Write an Effective Report 3E [Ratsch-Jenke et al (Essentials Education)]	5		1	33.62	33.62
P58526	Document Wallet FC Slimpick Pink	6		1	0.71	0.71
	CHEMISTRY					
P13862	SACE 2 Chemistry Essentials Workbook (7th edn) [Morton, Evans & McCann]	7		1	54.00	54.00
P11350	Chemistry Study Guide Sasta 2017 (Term 2) [SASTA] (New Edition for 2017)	8		1	30.56	30.56
	CREATIVE ARTS					
P55446	Display Book A4 20 Pocket Green Refillable	9		1	1.46	1.46
P50857	Binder A4 3D Ring PVC 25mm Black	10		1	4.81	4.81
	DRAMA					
P50270	Binder A4 3D Ring 50mm Insert PP White	11		1	7.02	7.02
P55142	Binder Book A4 8mm 48 Page	12		4	0.60	2.40
	ECONOMICS					
P12584	Economics - Past Exams Year 12 2017 edn (Term 2) [John Foreman] (New Edition for 2017)	13		1	21.51	21.51
	ENGLISH					
P55709	Index Dividers A4 5 Tab (Board)	14		1	0.71	0.71
P56329	Pocket Plastic 11 Hole A4 Box 100	15		1	5.21	5.21
P51157	Highlighters Micador ECO Wallet Pack 4	16		1	2.21	2.21
P50587	Lever Arch File A4 PVC 75mm Orange	17		1	7.15	7.15
	ENGLISH ESSENTIALS					
P55709	Index Dividers A4 5 Tab (Board)	18		1	0.71	0.71
P56329	Pocket Plastic 11 Hole A4 Box 100	19		1	5.21	5.21
P51157	Highlighters Micador ECO Wallet Pack 4	20		1	2.21	2.21
P50587	Lever Arch File A4 PVC 75mm Orange	21		1	7.15	7.15
	ENGLISH LITERARY STUDIES					
P55709	Index Dividers A4 5 Tab (Board)	22		2	0.71	1.42
P56329	Pocket Plastic 11 Hole A4 Box 100	23		1	5.21	5.21
P51157	Highlighters Micador ECO Wallet Pack 4	24		1	2.21	2.21
P50587	Lever Arch File A4 PVC 75mm Orange	25		1	7.15	7.15
P50806	Office Pad A4 Bank 100 Leaf Plain & Punched	26		1	1.69	1.69
	EXTRA ITEMS - OPTIONAL YEAR 12					
P00125	Heinemann Atlas Student Book (Bk/DVD)(5th edn) [Pask]	27		1	55.45	55.45
P00175	Heinemann Australian Student English Dictionary (7th edn)	28		1	41.57	41.57
P10690	NIV Teen Study HC	29		1	33.95	33.95

Please tick the items required in the box provided \downarrow

	•	-	\checkmark	•		
Office Use	Description	ltem No.	Item Read	Qty Read	Unit Price \$	Total Amount \$
	, , , , , , , , , , , , , , , , , , ,					
	FURNITURE CONSTRUCTION					
P55446	Display Book A4 20 Pocket Green Refillable	30		1	1.46	1.46
	GERMAN					
P02361	Collins German Dictionary and Grammar (7th edn) [Collins]	31		1	26.99	26.99
P50270	New Students Only Binder A4 3D Ring 50mm Insert PP White	32		1	7.02	7.02
P56328	Pocket Plastic 11 Hole A4 Pkt 10	33		1	0.86	0.86
P55446	Display Book A4 20 Pocket Green Refillable	34	$\overline{}$	1	1.46	1.46
P50806	Office Pad A4 Bank 100 Leaf Plain & Punched	35		1	1.69	1.69
	HISTORY					
P50857	Binder A4 3D Ring PVC 25mm Black	36		1	4.81	4.81
P50806	Office Pad A4 Bank 100 Leaf Plain & Punched	37		1	1.69	1.69
	INFORMATION PROCESSING & PUBLISHING					
P55446	Display Book A4 20 Pocket Green Refillable	38		1	1.46	1.46
P55440	Display Book A4 Refills Pkt 10	39		1	0.71	0.71
	JAPANESE					
P55446	Display Book A4 20 Pocket Green Refillable	40		1	1.46	1.46
P55659	Grid Book A4 10mm squares 48 Page	41		2	0.64	1.28
	LEGAL STUDIES					
P00174 P55446	Australian Constitution - Pocket (New edn)	42		1	3.25	3.25
P55446 P55152	Display Book A4 20 Pocket Green Refillable Binder Book A4 8mm 96 Page	43 44		1 1	1.46 1.01	1.46 1.01
	ESSENTIAL MATHEMATICS		_			
P55492	Document Wallet FC Slimpick Blue	45		1	0.71	0.71
P50852	Pad Test Graph A4 5mm 50 Leaf Punched	46		2	1.46	2.92
P55662	Grid Book A4 5mm 96 Page	47		2	1.09	2.18
	GENERAL MATHEMATICS					
P50229	Mathomat (4th Edn) - With Book	48		1	19.46	19.46
P50806	Office Pad A4 Bank 100 Leaf Plain & Punched	49		1	1.69	1.69
P50852	Pad Test Graph A4 5mm 50 Leaf Punched	50		3	1.46	4.38
P50454	Lever Arch File A4 PVC 70 mm Blue	51		1	7.15	7.15
DECCO	MATHEMATICAL METHODS					
P50229 P50852	Mathomat (4th Edn) - With Book	52		1	19.46	19.46
P55662	Pad Test Graph A4 5mm 50 Leaf Punched Grid Book A4 5mm 96 Page	53 54		2 2	1.46 1.09	2.92 2.18
	MATH SPECIALIST		_			
P50229	Mathomat (4th Edn) - With Book	55		1	19.46	19.46
P50806	Office Pad A4 Bank 100 Leaf Plain & Punched	56		1	1.69	1.69
P50852	Pad Test Graph A4 5mm 50 Leaf Punched	57		3	1.46	4.38
P50454	Lever Arch File A4 PVC 70 mm Blue	58		1	7.15	7.15
	MUSIC					
P55446	Display Book A4 20 Pocket Green Refillable	59		2	1.46	2.92
P50857	Binder A4 3D Ring PVC 25mm Black	60		4	4.81	19.24
P50201	Music Pads A4 Punched 50 Leaf (Musicianship only)	61		1	1.95	1.95

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	OUTDOOR EDUCATION					
P51669	Marker Lumocolor Permanent Fine Red 318	62		1	4.91	4.91
P50857	Binder A4 3D Ring PVC 25mm Black	63		1	4.81	4.81
P55152	Binder Book A4 8mm 96 Page	64		1	1.01	1.01
	PSYCHOLOGY					
P11403	Psychology Study Guide Sasta 2017 (Term 2) [SASTA] (New Edition for 2017)	65		1	30.56	30.56
P50857	Binder A4 3D Ring PVC 25mm Black	66		1	4.81	4.81
	PHYSICAL EDUCATION					
P04714	Year 12 PE Student Exam & Test Revision Guide (Achper)	67		1	35.96	35.96
	PHYSICS					
P01428	SACE 2 Physics Essentials Workbook (3rd edn)(2014) [Olesnicky & Lawerence]	68		1	54.00	54.00
P11402	Physics Study Guide Sasta 2017 (Term 2) [SASTA] (New Edition for 2017)	69		1	30.56	30.56
	VISUAL ARTS					
P56081	Marker Artline #200 Black 0.4mm	70		1	2.70	2.70
P55446	Display Book A4 20 Pocket Green Refillable	71	$\overline{\Box}$	1	1.46	1.46
P56190	Pencil (4B)	72		1	0.41	0.41
P56182	Pencil (2B) Tradition	73	$\overline{}$	1	0.60	0.60
P50006	Pencil (HB) Micador Essential	74	$\overline{}$	1	0.26	0.26
P58510	Eraser Plastic Pencil Large With Sleeve	75		1	0.30	0.30
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	76		2	8.50	17.00
	STANDARD STATIONERY					
P55650	Glue Stick Bostik 35gm	77		1	2.96	2.96
P50857	Binder A4 3D Ring PVC 25mm Black	78		1	4.81	4.81
P51157	Highlighters Micador ECO Wallet Pack 4	79		1	2.21	2.21
P55953	Notebook A4 250 Page 5 Subject Colourhide Assorted Colours	80		2	7.88	15.76
P50806	Office Pad A4 Bank 100 Leaf Plain & Punched	81		2	1.69	3.38
P56172	Pencil (HB)	82		2	0.60	1.20
P56095	Pen Ballpoint Cap Type Blue Medium	83		2	0.26	0.52
P56329	Pocket Plastic 11 Hole A4 Box 100	84		1	5.21	5.21
P56414	Ruler 300mm Plastic Clear	85		1	0.53	0.53

Number of Boxes ticked:	
Delivery, packaging & handling	\$0.00
ESTIMATED AMOUNT DUE (PRICES CORRECT AT 19/10/16)	\$